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Question Number : 1 Question Id : 630680200695 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which purusha is also called Rashi purusha?
Options :
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1. # Ekdhatuj purusha
2. # Shaddhatuj purusha
3. ¥ Chaturvimshati purusha

4. % Panchvimshamti purusha

Question Number : 2 Question Id : 630680200696 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, the number of Pratyang are:
Options :

1. # 52

2. ¥ 56

3. % 62

4. % 66

Question Number : 3 Question Id : 630680200697 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Chikitsa purusha is also known as:
Options :

1. # Chetna dhatuja purusha

2. % Karma purusha

3. % Rashi purusha

4. % Chaturvimsati purusha

Question Number : 4 Question Id : 630680200698 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Where is the description of kala and Akala Mrityu available in Charak Samhita?
Options :

1. # Trai-ayeshaniya adhyaya

2. # Rogbhishagjatiyavimana adhyaya

3. % Sharirvichay Sharira adhyaya

4. % Sadhyomaraniyaindriya adhyay

Question Number : 5 Question Id : 630680200699 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Sushruta, who is the Adhidevatam of Mana?
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Options :
1. # Brahma
2. # Ishwara
3. % Chandrama
4. # Vayu

Question Number : 6 Question Id : 630680200700 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following-

Structure Numbers
A. Kurcha 1. 4
B. Mamsa Rajju 2. 14
C. Sanghat 3. 16
D. Kandara 4. 6
Options :

| v A-4.B-1,C-2,D-3
, % A-3,B-1.C-2,D-4
; # A4,B2,C-1,D-3

, % A2,B-3,C-4,D-1

Question Number : 7 Question Id : 630680200701 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Kashyap, mula of Snayu is called:
Options :

1. % Hariday

2. ¥ Mastulung

3. ¥ Dhamani

4. % Nabhi

Question Number : 8 Question Id : 630680200702 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

3/41



4/3/23, 12:25 PM
What is the reference of “Mahatya snayu prokta kandara™?
Options :
1. ¥ Sushruta Sharira
2. # Charak Sharira
3. ¥ Bhavprakash Pratham khanda
4. % Ashtang hariday Sharira

Question Number : 9 Question Id : 630680200703 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In which month buddhi pradurbhav in Garbha occurs?
Options :

1. * Fourth

2. % Fifth

3. ¥ Sixth

4. % Seventh

Question Number : 10 Question Id : 630680200704 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The origin of Snayu is considered to be from:
Options :

1. ®¥ Kapha Rakta

2. % Rakta Meda

3. ¥ Sneha of Meda

4. % Kapha rakta mamsa

Question Number : 11 Question Id : 630680200705 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, Sutika Swasthvrita kal is:
Options :

1. ¥ 3/4 Ratri

2. % 3/5 Ratri

3. % 5/6 Ratri

4. % 5/7 Ratri

Question Number : 12 Question Id : 630680200706 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Charaka, “Utsaha” is related to:
Options :
1. * Matruj Bhav
2. ¥ Rasaja Bhav
3. % Aatmaj Bhav
4. % Satmyaj Bhav

Question Number : 13 Question Id : 630680200707 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In which month comparatively more Balavarna upchaya of garbha occurs?
Options :

1. # Fifth

2. ¥ Sixth

3. % Seventh

4. % Eighth

Question Number : 14 Question Id : 630680200708 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Sushruta, how many days can be considered as Ritukala?
Options :

1.*%5

2. %10

3.9 12

4, % 28

Question Number : 15 Question Id : 630680200709 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

“Shramo Glani pipasa Sakti sadan” is a characteristic feature of:
Options :

1. * Rajswala

2. % Sadhyograhit Garbha

3. % Grahit Garbha

4. % Prajayini

Question Number : 16 Question Id : 630680200710 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
According to Kankayan, which organ is formed first?
Options :
1. * Nabhi
2. % Shira
3. ¥ Hast Pada
4. % Hridaya

Question Number : 17 Question Id : 630680200711 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which plants are used for prevention of Garbhasrava in the sixth month?
Options :

1. ¥ Bala Shigru

2. % Ashmantak Satavari

3. % Vrikshadani Sariva

4. % Varihati Kashmari

Question Number : 18 Question Id : 630680200712 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Ashtanga hridaya, in which month “Romabalavarnnakhtwacha abhivyakti” garbh takes place?
Options :

1. * Fourth

2. # Fifth

3. % Sixth

4. % Seventh

Question Number : 19 Question Id : 630680200713 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Morula is how many cell stage?

Options :

1.% 4

2. % 8

3.4 16

4. % 32

Question Number : 20 Question Id : 630680200714 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Down syndrome is due to which chromosomal trisomy?
Options :

1. 21

2. % 18

3.% 13

4. % 11

Question Number : 21 Question Id : 630680200715 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Thymus is a derivative of:

Options :

1. ¥ 1% pharyngeal pouch

2. % 20 pharyngeal pouch

3. ¢ 3" pharyngeal pouch

4. % 4 sharyngeal pouch

Question Number : 22 Question Id : 630680200716 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Rachischisis is defined by:

Options :

1. # failure of closure of anterior neuropore

2. % failure of closure of neural groove

3. # closed neural tube and outward bulging of the spinal cord

4. % accumulation of abnormal quantity of CSF in the ventricular system of the brain

Question Number : 23 Question Id : 630680200717 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Anjali praman of Kapha is:

Options :

1. %9

2.% 7

3. 96

4. % 4
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Question Number : 24 Question Id : 630680200718 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Sushruta, how Mmany types of bones are?
Options :

1. %3

2.% 4

3.5

4. % 8

Question Number : 25 Question Id : 630680200719 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Sushruta, how many bones are present in Ura (Chest)?
Options :

1. ¥ 8

2. % 12

3.% 24

4. % 30

Question Number : 26 Question Id : 630680200720 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Patella is modified/developed form of which tendon?
Options :

1. ¥ Quadriceps femoris

2. * Rectus femoris

3. ®* Vastus medialis

4. % Vastus intermedius

Question Number : 27 Question Id : 630680200721 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which tarsal does NOT have any muscle attachment?
Options :

1. * Calcaneum

2. % Navicular

3. ®* Cuboid

4. ¥ Talus
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Question Number : 28 Question Id : 630680200722 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Fracture of base of the first metacarpal is called:
Options :

1. # Smith’s fracture

2. #% Colle’s fracture

3. ¥ Bennett’s fracture

4. % Hangman’s fracture

Question Number : 29 Question Id : 630680200723 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The medial surface of tibia gives insertion to all, EXCEPT:
Options :

1. # Sartorius

2. #% QGracilis

3. # Semitendinosus

4. ¥ Soleus

Question Number : 30 Question Id : 630680200724 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which carpal bone is baby shoe-shaped?
Options :

1. # Trapezium

2. ¥ Trapezoid

3. ® Triquetral

4. % Lunate

Question Number : 31 Question Id : 630680200725 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Match the following

Name of Sandhi Example
A. Ulukhala 1. Kati
B. Mandala 2. Vankshana
C. Kora 3. Kurpara
D. Tunna Sevani 4. Kloma Nadi

Options :
| % A-4,B-2,.C-3,D-1

5 % A-4,B-2,C-1,D-3
; # A2,B4,C-1,D-3

4, v A2.B-4,C-3,D-1

Question Number : 32 Question Id : 630680200726 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Sushruta, how many Sandhi are present in Kostha?
Options :

1. % 83

2. % 68

3.¥59

4. % 66

Question Number : 33 Question Id : 630680200727 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The joint between tooth and gum is called:
Options :

1. % syndesmosis

2. ¥ gomphosis

3. % sutures

4. % primary cartilaginous joint

Question Number : 34 Question Id : 630680200728 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
“Varunyaschatisevnata” leads to which srotas dushti?
Options :
1. # Rasa vaha
2. % Majja vaha
3. ¥ Meda vaha
4. % Asthi Vaha

Question Number : 35 Question Id : 630680200729 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to sushruta, “Aandhyam” is a characteristic feature of:
Options :

1. # Pranvaha srotas viddhi

2. % Annavaha srotas viddhi

3. % Udakvaha srotas viddhi

4, % Rasavaha srotas viddhi

Question Number : 36 Question Id : 630680200730 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

“Chaturbhagavashadita” is a characteristic feature of which durvidha sira?
Options :

1. # Kuttita

2. % Anteabhihata

3. * Shastrahata

4. ¥ Kunita

Question Number : 37 Question Id : 630680200731 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
“Patrarekhapratanvata” is:

Options :

1. ¥ Sira

2. % Dhamani

3. * Srotas

4, % Jaal

Question Number : 38 Question Id : 630680200732 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Which of the following is the musician’s nerve?
Options :
1. # Radial nerve
2. # Axillary nerve
3. % Median nerve

4. % Ulnar nerve

Question Number : 39 Question Id : 630680200733 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Supraorbital artery is a branch of:
Options :

1. * maxillary

2. % external carotid

3. % ophthalmic

4. * internal carotid

Question Number : 40 Question Id : 630680200734 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

When a person sits on the edge of a hard table or chair, the nerve gets compressed and results in numbness of
the lower limb. The nerve responsible for this is:

Options :

1. # obturator
2. % femoral
3. ¥ sciatic

4. % superior gluteal

Question Number : 41 Question Id : 630680200735 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Lingual nerve is a branch of:

Options :

1. # facial nerve

2. % glossopharyngeal nerve

3. % mandibular nerve

4. % hypoglossal nerve
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Question Number : 42 Question Id : 630680200736 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

A positive Trendelenburg’s sign is indicative of an injury to the:
Options :

1. ¢ superior gluteal nerve

2. % inferior gluteal nerve

3. # femoral nerve

4. ® gsciatic nerve

Question Number : 43 Question Id : 630680200737 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which cranial nerve passes through stylomastoid foramen?
Options :

1. # Trochlear

2. % Oculomotor

3. # Abducent

4. % Facial

Question Number : 44 Question Id : 630680200738 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

How many ganglia are present in the vagus nerve?
Options :

1.9¥2

2.%3

3.% 4

4. % 5

Question Number : 45 Question Id : 630680200739 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Nervi erigentes arises from:

Options :

1. ¥ ventral rami of s2,3,4 segments

2. # ventral rami of s2,3,4, 5 segments
3. % ventral rami of s1,2,3 segments

4. % dorsal rami of s2,3,4 segments
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Question Number : 46 Question Id : 630680200740 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The root value of the deep peroneal nerve is:
Options :

1. ¥ ventral rami of 14,5 s1,2

2. % ventral rami of 15 s1,2

3. % ventral rami of 14,5 s1,2,3

4. % ventral rami of 15 s1,2,3

Question Number : 47 Question Id : 630680200741 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following nerves has a pseudoganglion?
Options :

1. # Suprascapular nerve

2. % Axillary nerve

3. ¥ Nerve to teres minor

4. ® nerve to serratus anterior

Question Number : 48 Question Id : 630680200742 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The skin around the umbilicus is innervated by which thoracic segment?
Options :

1. % T8

2. % 719

3.9T10

4. % TI11

Question Number : 49 Question Id : 630680200743 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The chief artery of rectum:

Options :

1. ¥ Superior rectal artery

2. # Inferior rectal artery

3. ¥ Middle rectal artery
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4. % Median rectal artery

Question Number : 50 Question Id : 630680200744 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

How many peshi are present in Garbhchidra ashrita?
Options :

1.¥3

2.% 4

3.%6

4. % 10

Question Number : 51 Question Id : 630680200745 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which muscle is called the peripheral heart?
Options :

1. ¥ Soleus

2. # Gastrocnemius

3. * Plantaris

4. * Sartorius

Question Number : 52 Question Id : 630680200746 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Trapezius is NOT attached to:

Options :

1. # clavicle

2. ¥ first rib

3. % occiput

4. % scapula

Question Number : 53 Question Id : 630680200747 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Semimembranosus is supplied by the:
Options :

1. ¥ tibial part of sciatic nerve

2. % common peroneal part of sciatic nerve

3. ¥ obturator nerve
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4. * femoral nerve

Question Number : 54 Question Id : 630680200748 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which muscle is supplied by two nerves with different root values?
Options :

1. # Flexor pollicis longus

2. % Pronator teres

3. ¥ Flexor digitorum profundus

4. % Flexor digitorum Superficialis

Question Number : 55 Question Id : 630680200749 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

All of the following muscles are elevators of the larynx during the act of swallowing, EXCEPT:
Options :

1. # palatopharyngeus

2. #* mylohyoid

3. # geniohyoid

4. ¥ palatoglossus

Question Number : 56 Question Id : 630680200750 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following shape is similar to Garbhashaya?
Options :

1. * Sankh nabhi

2. % Padma kara

3. ¥ Rohit Matsya mukha

4. % Gaupuchaakriti

Question Number : 57 Question Id : 630680200751 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The location of Amashaya is in:

Options :

1. ¥ Nabhi Stan Madhya

2. % Pakvashyay Stan Madhya
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3. # Pittashay Pakvashya Madhya
4. % Nabhi Pakvashya Madhya

Question Number : 58 Question Id : 630680200752 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charaka, which of the following is NOT included in Panchadasha koshthang?
Options :

1. ¥ Phuphphusa

2. # Vapavahana

3. # Purishadhara

4. % Uttarguda

Question Number : 59 Question Id : 630680200753 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which kala is characterised as Sarvasharirvyapini?
Options :

1. # Raktadhara kala

2. % Medadhara kala

3. # Shleshmdhara kala

4. % Shukra Dhara kala

Question Number : 60 Question Id : 630680200754 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

How many petals are present in the Manipura chakra?
Options :

1.% 4

2.% 6

3.% 8

4.4 10

Question Number : 61 Question Id : 630680200755 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Chandranadi is:

Options :

1. ¥ Ida
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2. # Pingala
3. ® Sushumna

4. * Samirana

Question Number : 62 Question Id : 630680200756 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

“Parshani prati janghamadhye” is the location of which marma?
Options :

1. # Gulpha

2. % Janu

3. ¢ Indravasti

4. % Kurchshira

Question Number : 63 Question Id : 630680200757 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Match the following

Marma Injury result
A. Kakshdhara 1. Kunthata
B. Uravi 2. Kuni
C. Manibandha 3. Pakshaghat
D. Kurpara 4. Sakthisosha

Options :
| % A-3,B-1.C-4,D-2

5 % A-2,B-4,C-1,D-3
; v A3,B4,C-1,D-2

, % A4.B-3,C-2,D-1

Question Number : 64 Question Id : 630680200758 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which of the following is NOT a dhamani marma?
Options :
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1. #* Guda
2. % Aplap
3. % Apstambh
4. % Vidhur

Question Number : 65 Question Id : 630680200759 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Krishan Bhag of Eye are formed by which mahabhoot?
Options :

1. * Agni

2. % Jala

3. % Vayu

4. % Pathivi

Question Number : 66 Question Id : 630680200760 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

What is the location of mana (according to bhela)?
Options :

1. # Haridya

2. % Shir Talu antargatam

3. % Hariday Talu antargatam

4. % Mastishk

Question Number : 67 Question Id : 630680200761 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Myelin sheath is produced by:

Options :

1. # neuron

2. % axon

3. % dendrite

4. % Schwann’s cells

Question Number : 68 Question Id : 630680200762 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
How much is the total volume of CSF in ml?
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Options :
1. ®* 50
2. % 100
3.9 150
4. % 275

Question Number : 69 Question Id : 630680200763 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
How many layers does the scalp have?
Options :

1. %3

2. % 4

3.5

4. % 6

Question Number : 70 Question Id : 630680200764 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is the thickest boundary of eye orbit?
Options :

1. ¥ Lateral

2. % Medial

3. % Roof

4. * Floor

Question Number : 71 Question Id : 630680200765 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which nucleus receives impulses of taste?
Options :

1. * Nucleus ambiguus

2. * Dorsal Nucleus of vagus

3. % Tractus solitarius

4. % Spinal nucleus of trigeminal nerve

Question Number : 72 Question Id : 630680200766 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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Shav chedan is described in which chapter?
Options :
1. ¥ Sharirasankhyavyakaran sharira
2. % Sharirasankhya sharira
3. # Sharirvichay sharira

4. % Sjravarnavibhakti sharira

Question Number : 73 Question Id : 630680200767 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The average weight of the liver in males is:
Options :

1. % 1000 gm

2. % 1600 gm

3. % 2000 gm

4. % 3000 gm

Question Number : 74 Question Id : 630680200768 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The large intestine can be directly viewed by a procedure called:
Options :

1. ¥ USG

2. % colonoscopy

3. # endoscopy

4. % USG and colonoscopy both

Question Number : 75 Question Id : 630680200769 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The normal capacity of the gall bladder is:
Options :

1. ¥ 50-150 ml

2. % 30-50 ml

3. % 150-300 ml

4. % 350-500 ml

Question Number : 76 Question Id : 630680200770 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
The accessory pancreatic duct is also called:
Options :
1. * Wirsung duct
2. % Santorini duct
3. % Henson’s duct
4. % Hoffmann’s duct

Question Number : 77 Question Id : 630680200771 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Subpubic angle is 50-60° in which pelvis?
Options :

1. ¥ Male

2. % Female

3. % Platypelloid

4. % Gynaecoid

Question Number : 78 Question Id : 630680200772 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following structures is single at the root of each lung?
Options :

1. * Pulmonary vein

2. % Pulmonary artery

3. % Bronchus

4. % Bronchial artery

Question Number : 79 Question Id : 630680200773 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The anterior spinal artery is a branch of:
Options :

1. ¥ vertebral

2. #* internal carotid

3. * basilar

4. % labyrinthine

Question Number : 80 Question Id : 630680200774 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Which is the least dilatable part of male urethra?
Options :
1. # External opening
2. % Prostatic part
3. % Membranous part
4. % Penile part

Question Number : 81 Question Id : 630680200775 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT the content of the broad ligament?
Options :

1. ¥ Cervix

2. % Uterine tube

3. % Ligament of ovary

4. % Round ligament

Question Number : 82 Question Id : 630680200776 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is NOT the content of superior mediastinum?
Options :

1. % Arch of aorta

2. % Vagus nerve

3. % Pulmonary trunk

4. % Thoracic duct

Question Number : 83 Question Id : 630680200777 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Fissure for ligamentum venosum contains two layers of:
Options :

1. # greater omentum

2. # falciform ligament

3. ¥ lesser omentum

4. % Ligamentum teres

Question Number : 84 Question Id : 630680200778 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following is formed by the mesonephric duct?
Options :

1. # Uterus

2. # Penis

3. % Ureter

4. % Uterine tube

Question Number : 85 Question Id : 630680200779 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Charak Samhita, the body has:
Options :

1. #* four parts

2. % five parts

3. ¥ six parts

4. % seven parts

Question Number : 86 Question Id : 630680200780 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The word ‘Kaya’ is synonymous with:
Options :

1. % Sharir

2. % Ama

3. % Atma

4. % Buddhi

Question Number : 87 Question Id : 630680200781 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Who considered Purusha as only Chetana dhatu?
Options :

1. ¥ Acharya Charak

2. % Acharya Sushruta

3. # Acharya Vagbhata

4. % Acharya Kashyapa
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Question Number : 88 Question Id : 630680200782 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
‘Purushoayam Lok Samith’ is a verse of:
Options :

1. ¥ Punarvasu Atreya

2. % Bhrigu

3. # Vashisth

4. # Acharya Vagbhatt

Question Number : 89 Question Id : 630680200783 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
‘Samastagatramavishopahatamadeerghavyadhi’ is a verse for:
Options :

1. % Mrita Sharir

2. % Jivit Shareer

3. % Atma

4. % Man

Question Number : 90 Question Id : 630680200784 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following purush is a Chikitsadhikritya .
Options :

1. ®* Yayaver Purush

2. % Karma Purush

3. % Ling Sharir

4. % Mrit Purush

Question Number : 91 Question Id : 630680200785 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The number of Kurcha is:

Options :

1. # three

2. % four

3. ® five

4. ¢ six
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Question Number : 92 Question Id : 630680200786 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
‘Kshirena Santanica’ is a word that is used for:
Options :

1. ¥ Twacha

2. % Kala

3. % Sira

4. % Dhamani

Question Number : 93 Question Id : 630680200787 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, the length of Antra in a male is equal to:
Options :

1. # 2 Vyama

2. % 2 and 1/2 Vyama

3. % 3 Vyama

4. % 3 and 1/2 Vyama

Question Number : 94 Question Id : 630680200788 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Garbhakranti means:

Options :

1. # Shukra ka avatharan

2. % Artava avtaran

3. % Atam avtaran

4. % Garbha avataran

Question Number : 95 Question Id : 630680200789 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Acharya Charak, Artava Srava Kala is:
Options :

1. # 3 days

2. #% 4 days

3. ¥ 5 days
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4. % 6 days

Question Number : 96 Question Id : 630680200790 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
An excess of Artava gives rise to:
Options :

1. # putra

2. ¥ kanya

3. % napunsak

4. % anasthi garbha

Question Number : 97 Question Id : 630680200791 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta development of ‘Buddhi' takes place in which month of pregnancy?
Options :

1. % 4th

2. % sth

3. ¢ 6h

4. % 7th

Question Number : 98 Question Id : 630680200792 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Ritu Kshetra, Ambu, Beeja are called:
Options :

1. ¥ Garbha Samagri

2. # Garbhaj Bhav

3. % Garbha Vriddhiker Bhav

4. % Garbha Vikar

Question Number : 99 Question Id : 630680200793 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
‘Panch Pindika’ is a word that is used for:
Options :

1. # Shukra

2. ® Aartava
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3. % Garbha
4. * Garbhini

Question Number : 100 Question Id : 630680200794 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Kesh, Smashru, Nakh and Loma are derived in Garbha from:
Options :

1. #* mother

2. ¥ father

3. % poorvjanma kritya

4. # papjanyakritya

Question Number : 101 Question Id : 630680200795 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Prasad of Rakta and Meda is:

Options :

1. ¥ Vrikka

2. # Hridaya

3. % Yakrit

4. % Pliha

Question Number : 102 Question Id : 630680200796 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

In which Adhaya of Sushruta Samhita is Punsavan Vidhi mentioned?
Options :

1. # Sarvbhutchinta Shariropkram

2. % Shukrashonitshuddhi Sharir

3. % Garbhavkranti Ishariropkramsh

4. % Garbhvayakaran Shariropkram

Question Number : 103 Question Id : 630680200797 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Embryology deals with the:

Options :

1. ¥ study of the development of an individual before birth
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2. # study of the development of an individual after birth
3. % study of the development of an organ

4. % study of the development of the tissue

Question Number : 104 Question Id : 630680200798 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The term decidua comes from:

Options :

1. * myometrium

2. # parametrium

3. ® paramecium

4. ¥ endometrium

Question Number : 105 Question Id : 630680200799 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The length of a body, according to Acharya Charak is:
Options :

1. # 81 angul praman

2. % 82 angul praman

3. % 83 angul praman

4. ¥ 84 angul praman

Question Number : 106 Question Id : 630680200800 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Valaya and Nalak are types of:

Options :

1. % Peshi

2. % Kandara

3. # Sandhi

4.« Asthi

Question Number : 107 Question Id : 630680200801 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The number of bones in the human body, according to Acharya Sushruta is:
Options :
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1. ¥ 300
2. % 360
3. % 206
4. % 400

Question Number : 108 Question Id : 630680200802 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is the largest sesamoid bone in the body?
Options :

1. ¥ Patella

2. % Stapes

3. * Carpel

4. % Clavicle

Question Number : 109 Question Id : 630680200803 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The types of Sandhi, according to Acharya Sushruta are:
Options :

1. * seven

2. ¥ eight

3. * nine

4. % ten

Question Number : 110 Question Id : 630680200804 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Shankhavarta is a type of:

Options :

1. * Asthi

2. ¥ Sandhi

3. * Peshi

4. % Marma

Question Number : 111 Question Id : 630680200805 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
An example of hinge joint is the:

30/41



4/3/23, 12:25 PM
Options :
1. # shoulder joint
2. % hip joint
3. ¥ elbow joint

4. % costochondral joint

Question Number : 112 Question Id : 630680200806 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Dhamanees are:

Options :

1. ¥ Nabhiprabhava

2. # Shiroprabhava

3. # Yakritprabhava

4. % Gudaprabhava

Question Number : 113 Question Id : 630680200807 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The number of Avedhya Sira in the body, according to Acharya Susruta is:
Options :

1. ¥ 98

2. %97

3. % 107

4. % 102

Question Number : 114 Question Id : 630680200808 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Which is the chief artery of the lower limb?
Options :

1. ¥ Femoral

2. # Popliteal

3. # Tibial

4. % Sural

Question Number : 115 Question Id : 630680200809 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
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The vagus nerve is a:
Options :
1. ® sensory nerve
2. % motor nerve
3. ¥ mixed nerve

4. % Spinal nerve

Question Number : 116 Question Id : 630680200810 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The left gastric artery is a branch of the:
Options :

1. ¥ celiac trunk

2. % hepatic artery

3. # gastro duodenal artery

4. % splenic artery

Question Number : 117 Question Id : 630680200811 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The abdominal aorta begins at the aortic opening of the diaphragm:
Options :

1. ¥ opposite to the lower border of the vertebra T12

2. % opposite to the lower border of the vertebra T10

3. # opposite to the lower border of the vertebra T11

4. % opposite to the lower border of the vertebra TA9

Question Number : 118 Question Id : 630680200812 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The portal vein is formed by:

Options :

1. ® the superior mesenteric vein and the inferior mesenteric vein
2. % the superior mesenteric vein and the azygos vein

3. ¥ the superior mesenteric vein and the splenic vein

4. % the superior mesenteric vein and the renal vein

Question Number : 119 Question Id : 630680200813 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3
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Correct Marks : 2 Wrong Marks : 0.66
The circle of Willis is also called the:
Options :
1. # circulus vasculosus
2. # circulus nervosus
3. % circulus venosus

4. % circulus arteriosus

Question Number : 120 Question Id : 630680200814 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which nerve root of the sympathetic nerve supplies the Testis?
Options :

1. * T9

2. % T11

3.9 T10

4, % T12

Question Number : 121 Question Id : 630680200815 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The pudendal nerve is a branch of the:
Options :

1. # brachial plexus

2. # lumber plexus

3. % cervical plexus

4. % sacral plexus

Question Number : 122 Question Id : 630680200816 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The great saphenous vein is included in the:
Options :

1. ¥ superficial veins

2. % deep veins

3. % perforating veins

4. % connecting veins

Question Number : 123 Question Id : 630680200817 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
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1/3
Correct Marks : 2 Wrong Marks : 0.66
Bahala-pelava-sthula-anu-prithu-vritta-hriswa-dheergha are types of:
Options :
1. # Dhamani
2. % Shira
3. ¥ Peshi
4. % Lasika

Question Number : 124 Question Id : 630680200818 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The biceps brachii is the muscle of the:
Options :

1. ¥ upper limb

2. % lower limb

3. % thorax

4. * abdomen

Question Number : 125 Question Id : 630680200819 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Anconeus muscle is the superficial muscle of the
Options :

1. # anterior of the forearm

2. % back of the forearm

3. % lateral of the forearm

4. * medial to forearm

Question Number : 126 Question Id : 630680200820 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The lumbricals are muscles of the:
Options :

1. ¥ hand

2. % arm

3. % forearm

4. % scapular region

Question Number : 127 Question Id : 630680200821 Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

Which of the following muscles forms the boundary of the femoral triangle?
Options :

1. ¥ Adductor longus

2. % Adductor brevis

3. ® Adductor magnus

4. % Adductor hallucis longus

Question Number : 128 Question Id : 630680200822 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charak, the number of Koshthanga is:
Options :

1. % 8

2.% 12

3.% 14

4.9 15

Question Number : 129 Question Id : 630680200823 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The number of Ashaya in Purusha (male) is:
Options :

1.¥ 7

2.% 8

3.% 10

4, % 12

Question Number : 130 Question Id : 630680200824 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
According to Bhela, Mana is situated at:
Options :

1. * Hridaya

2. % Shira

3. * Basti

4. ¥ Between Shira and Talu
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Question Number : 131 Question Id : 630680200825 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Charak, Mastishka Pramana is equal to:
Options :

1. ¥ 1/2 Anjali

2. % 1 Anjali

3. % 2 Anjali

4. % 4 Anjali

Question Number : 132 Question Id : 630680200826 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, the number of Marmas is:
Options :

1. % 102

2. %105

3.9 107

4. % 109

Question Number : 133 Question Id : 630680200827 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Gulpha Marma is a type of:

Options :

1. ¥ Rujakar

2. % Vaikalyakar

3. % Kalantar Pranahar

4. % Sadya Pranahar

Question Number : 134 Question Id : 630680200828 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The character of Sadya Pranahara Marma is:
Options :

1. ®¥ Saumya

2. ¥ Agneya

3. % Vayavya

4. % Sannipata
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Question Number : 135 Question Id : 630680200829 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Kshipra Marma is type of:

Options :

1. ¥ Mamsa Marma

2. % Sira Marma

3. ¥ Dhamani Marma

4. % Snayu Marma

Question Number : 136 Question Id : 630680200830 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
An injury to Phana Marma leads to:
Options :

1. % loss of hearing

2. % Joss of taste

3. # loss of vision

4. % loss of smell

Question Number : 137 Question Id : 630680200831 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Indriyas are:

Options :

1. ¥ Bhautik

2. % Adhyatmik

3. % Darshnik

4. % Abhautika

Question Number : 138 Question Id : 630680200832 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Anutva and Ekatva are the of the Manas.
Options :

1. ¥ Karma

2. ® Vishaya

3. % Guna
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4. * Bhava

Question Number : 139 Question Id : 630680200833 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The uveal tract or the vascular coat is the:
Options :

1. # outer coat of the eyeball

2. ¥ middle coat of the eyeball

3. * inner coat of the eyeball

4. % superficial coat of the eyeball

Question Number : 140 Question Id : 630680200834 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

According to Acharya Sushruta, the number of days for Mrit Shodhan before dissection is:
Options :

1. # 3 days

2. % 5 days

3. ¥ 7 days

4. % 11 days

Question Number : 141 Question Id : 630680200835 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The shape of the empty stomach is:
Options :

1. # L shaped

2. ¥ ] shaped

3. % C shaped

4. % D shaped

Question Number : 142 Question Id : 630680200836 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Peyer’s patches are present in the:
Options :

1. # jejunum

2. % ileum
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3. # rectum

4. * anal canal

Question Number : 143 Question Id : 630680200837 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
Porta hepatis is present on the:

Options :

1. ¥ inferior surface of the liver

2. % superior surface of the liver

3. % anterior surface of the liver

4. % Right surface of the liver

Question Number : 144 Question Id : 630680200838 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The uterus is normally:

Options :

1. ¥ anteverted and anteflexed

2. # retroverted and retroflexed

3. % anteverted and retroflexed

4. * retroverted and anteflexed

Question Number : 145 Question Id : 630680200839 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The vermiform appendix arises from the:
Options :

1. #* anterior wall of the caccum

2. % lateral wall of the caecum

3. ¥ posteromedial wall of the caecum

4. * inferior wall of the caecum

Question Number : 146 Question Id : 630680200840 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

The gall bladder lies at the inferior surface of the:
Options :

1. ¥ right lobe of the liver
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2. * left lobe of the liver
3. * middle lobe of the liver

4. * anterior lobe of the liver

Question Number : 147 Question Id : 630680200841 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The thyroid gland lies against the vertebrae:
Options :

1. % C4and C5

2. % Cl1,C2,C3 and C4

3.¥ C5,C6,C7and T1

4. % T1,T2 and T3

Question Number : 148 Question Id : 630680200842 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The coronary sinus is the:

Options :

1. ¥ largest cardiac vein

2. # largest lymphatic duct

3. % largest cardiac artery

4. % largest nerve

Question Number : 149 Question Id : 630680200843 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66

How many broncho-pulmonary segments are there in the left lung?
Options :

1. # 30

2. %20

3. % 15

4.4 10

Question Number : 150 Question Id : 630680200844 Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text :
1/3

Correct Marks : 2 Wrong Marks : 0.66
The small triangular area ‘trigone’ is present in the:
Options :

40/41



4/3/23, 12:25 PM
1. # liver
2. % lungs
3. # kidneys
4. ¥ urinary bladder
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